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#include <stdio.h>
int main()

{
int a, tmp, b=0;

SCaﬂf("%d", &a)’
tmp = a<0? ;a: a;

while (tmp) {
b=b*10 + tmp%10;
tmp = tmp / 10;

y |

if (a==b || -a==b)
printf("Palindromic number.\n");

printf("a=%d b= %d\n", a, b);

return 0;

}

i 1]
FHt [C AR 11 B 47040 B4 A-1331. 795 [f 1% .



[C {1t 2]
#include <stdio.h>
int main()
{
char grade;
int points;

for( grade ='A"; grade< 'F'; grade++) {
switch (grade) { .
case 'A" points=4; break;
case ‘B points=3;

case 'C': points=2;
case 'D':  points =1 break;
case 'E"
case "W':  points=0;
}
if (points > 0)
printf ("Passed, points = %d\n", points ) ;
else
printf ("Failed\n" ) ;
}
return 0;

|
GER
FH1 [C KT 20 35 (T i 145 .

I;q Belisz DA R BB AN CARAY, SESFEF 023 (1) ~ (6) K iRa 5 N & RAR BT A
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(1)24 H A s B AT 180 I, 43 HL 0.5 JG:

()4 H F FL St 180 FE{HANHERT 360 FE A4y, 45 0.55 Jt:
(3)4 H F FL &tk 360 FE 134y, & 0.7 Jt.



filan, R A—NHBHBEY 150 2, HA %y 150%0.5=75.00 7t; H: /- B FHLE N 280
¥, HH%%4 180%0.5+(280-180)*0.55=145.00 7t; /' C FIHL&E N 450 &, H 2N
180*0.5+(360-180)*0.55+(450-360)*0.7=90.0+99.0+63.0=252.00 G

NPT A m(m>0)AME I A WA S, RG2S R B I, R
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[C ]

#include <stdio.h>
#define MAXQT 100000 R i N

double proc(int qt)
(53R A A T Rh gt IFRYHLSR
double fee = 0.0;

if ( (1) )
fee = qt*0.5;
else
if ( (2) )
fee = 180 * 0.5 + (qt - 180) * 0.55;
else
fee = £3): 3
return fee;
h
int main()
{
int m; 114 5

int qt, minimum=MAXQT, maximum=0;  //HIHiHL, I/, B



scanf("%d", &m);

while(m>0) {
scanf("%d", &qt);
if (qt<0 || gt > MAXQT) continue;

printf("%.21f\n", proc(qt));

if ( (4) )
minimum = qt;

else if ( (5) )
maximum = qt;

(6)
H

printf("maximum = %d, minimum = %d\n", maximum, minimum),

return 0;

o BEEELL R UM C AV, HSREFHME (1) ~(6), BHIRE S NB AKX AN .
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PR AL insertElem FIIHAE R LE TR T HEFI B FFoInN — N8 e R F R 4L e = T HEFT R
R p . 7E main BRECRINE T RN ISR, SN 0 36 Bak S0 H08 H PR e Bl i
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[C#5]
#define ARRSZ 10001
void il;lSEl'tE]Eﬂ‘l{d{)le]ﬂ arr(], int n, double elem )
[*arr 2 [ 25 K HICRALMIHFHER, 4 elem $EA arr b IR 1T P4s v/
{ inti;
double tmp;

if (n==0 || elem >= arr{n-1] ) { (1) =elem; return; }

for(i=n-1; i>=0 && elem < arti]; i--) { /ELIEATFHB LEER
(2)

}
(3) = elem; /1K G B TR Ji 2
h
int main()

i intidx,n=0;
double price, pdatal ARRSZ];

do {
scanf("%If", &price);
if ( price <=0) (4)
insertElem(___ (5)  ); /i insertElem ¥ price 1I{t N pdata %41

n++; i

}while(n<ARRSZ);

for(idx =0; _ (6)  :idx++) /3 THFG P A 90 $
printf{"%.21f\t", pdata[idx] );
return 0

o [ LA R U IR Java F2IT, SRR 123 (1) ~(B), KR Er 5 N E REARHIRT A 1A

[i9]

PLF Java (AL —MNAE AR S RS0, 5 SR (Music) 1] LU# F %28 Rk 2% (Instrument) iE 1778 2%
FVR S . IR A SR B AT A, R 5-1 s, A3 AR%% Instrument). 77 SR 8%



(Percussion). 5% 5k2%(Stringed). B Sk a5(Wind). A K25 (Woodwind). £i% 5k %% (Brass) .

Instrument
Hopays [
+adjust()
Percussion Stringed Wind
+play(} : voud +play(} - void +play(} : void
+adjust(} : void +adjust() . void +adjust(} - void
| Br
Woodwind =
= +play() -
+play() . vo +adjust()
Pe 5-1 K

[Java {15 ]
import java.util. ArrayL.ist;
enum Note{/*H 2 5 F 5 i */
MIDDLE_C,C_SHARP,B_FLAT; 13

}
abstract class Instrument{/* 5 25*/
(1); Ilplay 75k

abstract void adjust__(5)__ //adjust 15 J5 1
}



class Wind (2) {
public void play(Note n) { System.out.printin("Wind.play() " + n); }
public void adjust() { System.out.printin("Wind.adjust()"); }

/* % Percussion 1 Stringed SCIL{CADRE */

class Brass (3> |
public void play(Note n) { System.out.printin( "Brass.play() " +n); }
public void adjust() { System.out.println("Brass.adjust()"); }

class Woodwind extends Wind {
public void play(Note n) { System.out.println( "Woodwind.play() " + n);

public class Music {

void tune(Instrument i) { i.play(Note MIDDLE_C); |}

void adjust(Instrument i) { i.adjust(); }

void tuneAll( (4) e)d

for(int j = 0; j < e.size(); j++) {

Instrument i = e.get(j);
adjust(i);
tune(i);

}
public static void main(String[] args) {

(5) music = new Music();
ArrayList<Instrument> orchestra = new ArrayList<>();
orchestra.add(new Wind());
orchestra.add(new Woodwind());
music.tuneAll{orchestra);



o [ T AU C++R15, HEREFFRIAQL) ~(6), HMRESNE AU NN .

| QUAED

PAF CH++RALSEEl — MR R ES RS0, 5 I8 (Music) AT A 2% 28 iR 4% (Instument) 2E 47 8 22 F1
WSS E . W SR A AT R, R 6-1 o, BLFE: Rgs(Instrument). 4T SR 8%
(Perussion). 3% ‘k#%(Stringed). & AR (Wind). A K25 (Woodwind). 4% 5k 2% (Brass ).



instrument

Plopayg [T
+adjust()
Percussion Stringed ‘Wind
+play() : void +play() : void +play() : void
+adjust() . vod +adjust() : void +adjust() : void
[ ? I
J‘, — Brass
- +play() : void
+play() : void +adjust() : void
P 6-1 2P
[C++4Li5]

#include <iostream=>

#include <vector=>

using namespace std:

enum Note { /* HZE &R */
MIDDLE C, C SHARP, B FLAT

}s

class Instrument {/* FhEKFA, R */

public:
()

virtual void adjust() = 0;

|5

class Wind :_ (2)

public:

IHE

/140 1 PR 3 play

//adjust B i 11




void play(Note n) { cout<<"Wind.play() "<<n << endl; }
void adjust() { cout<<"Wind.adjust()"<<endl; }

e
/*% Percussion ! Stringed S5 ACHLHE ¥/

classBrass: _ (3) {

public:
void play(Note n) { cout<<"Brass.play() " <<n << endl; }
void adjust() { cout<<"Brass.adjust()"<<endl; }

§5

class Woodwind : public Wind {
public:
void play(Note n) { cout<<"Woodwind.play() " <<n <<endl;  }

1
class Music {
public:
void tune(Instrument* i) {  i->play(MIDDLE C); }
void adjust(Instrument* i) { i->adjust(); }
void tuneAll( __(4)  v){ 1% HEANRAEE N ¥/
vector<Instrument*>::iterator it;
for( it = v.begin(); it != v.end(); it++) {
this->adjust(*it): '
this->tune(*it);
}
}
¥

int main() {

(5) music = new Music();
vector<Instrument*> orchestra;
orchestra.push_back(new Wind());
orchestra.push_back(new Woodwind());
music->tuneAll(orchestra);








